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MASTER OF COMMERCE 
C\J Term-End Examination 

CD 	 December, 2012 

MCO-03 : RESEARCH METHODOLOGY AND 
STATISTICAL ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage : 70% 

Note : Answer any five questions. All questions carry equal 

marks. 

1. (a) What do you mean by a research problem ? 
Explain the sources of research problem and 
the points to be considered while 
formulating the Research Problem. 	15+5 

(b) Explain how to formulate objectives in the 

hight of Research Problem. 

2. Define a hypothesis. What are the advantages of 
formulating it in a research study ? Describe the 

criteria for workable hypothesis. 	 3+7+10 

3. (a) Give a brief description of the different kinds 
of diagram generally used in business 
research to present the data. 	 10+10 

(b) Discuss the merits and limitations of median 
and mode as measures of central tendency. 
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4. 	The following table gives the frequency 20 
distribution of expenditure on education per 

family among middle class families in two cities. 

Expenditure 
(in thousand Rs.) No. of Families  

City 'A' City 'B' 
3 - 6 28 39 
6 - 9 292 284 

9 - 12 389 401 
12 - 15 212 202 
15 - 18 59 48 
18 - 21 18 21 
21 - 24 2 5 

(a) Find the standard deviation of the 

expenditure at both cities. 

(b) Find out which of the city shows greater 
variability. 

5. 	(a) The following results have been ascertained 

from the time series data with the help of 

least square method. The duration of the 

time is from the year 2001 to 2007. 	8+12 
N = 7, 	=532, Ix = 0, /,xy = 136 /x2 =28 

You are required to 

(i) fit a straight line 

(ii) using the straight line equation 

estimate the trend in 2011. 
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(b) From past records, about 40% of a firm's 
orders are for export. Their record for 
exports is 48% in one particular financial 
quarter. If they expect to satisfy about 80 
orders in the next financial quarter, what is 
the probability that they will break their 
previous 	export 	record. 
(Table value of Z 	1.46 = 0.4279) 

6. (a) What are the conditions required for 10 
applying chi-square test ? Explain its 
limitations for applying the test. 

(b) In order to know the brand preference of 10 
two washing detergents, a sample of 1000 
consumers were surveyed. 56% of the 
consumers preferred Brand X and 44% of 
the consumers preferred Brand Y. Do these 
data conform to the idea that consumers 
have no special preference for either 
brand ? Take significance level as 0.05. 
(Table Value at 5% level of significance and 
df =1 is 3.841.) 

7. What do you understand by conclusions and 
generalisations ? Explain the logical and statistical 
methods of generalisation. 	 4+8+8 

8. Write short notes on any four of the following : 

(a) Tests of Hypothesis 	 5+5+5+5=20 

(b) Normal Distribution 

(c) Addition rule for Non-Mutually Exclusive 
Events 

(d) Sample size 

(e) Continuous Rating Scale 

(f) Multi-Stage sampling 
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1. (a) 	31-§4V9*(-14-ilIA. 	 3-114t1Ti TITR7qf 

t #0. 2.1131-049. T11:R:M a->) 	-mTzT 

'afti -4 74- 	 ch1 	tlf-A7 I 15+5 

(b) 31 	TT Y 4 6t1 3i-F=1 

c11-11 qd f-*7 	? 

2. Nloichr44-11 (hypothesis) ch') 4FO-117T -1-f-A-R I ichal-fr:fq-N 

3ivjrzfil4Tqtf9-14fult GNI 	? 	Mainc-41 I 

4-11LIqui chkilFeA*1) "Wf a 	-4f-A-I 	3+7+10 

3. (a) 	cAiici(-11P-ich 3rOtTF 	ml 

Fri --crtrr f-*7 \11 	qc Far 	31-f{-d 
10+10 

(b) 	Ted chl litEr tc,Li HIrbTiti 

t 	Trr-974 -wr 
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4. 	.14--Irort5cf 	 cl'f'ktriTqt 
	

20 
tr-{ 	 -5rfff trf(--41--{ml31-9-ru -4a-ff 

fq-za : 

&1 ( 6\31R T. 14 ) 4 	',41i• -  4(sql 

'A' YI6,t 'B' 

3 - 6 28 39 
6 - 9 292 284 

9 - 12 389 401 
12 - 15 212 202 
15 - 18 59 48 
18 - 21 18 21 
21 - 24 2 5 

(a) 	 71-0 4 754 chr 714-17 fqq-ffi (standard 
deviation) -1171 	I 

(b) 71Ic1"-TT--A7frn VI7-TIT 71-6-{ 3-Tfw fqq-711 
(variability) 	T IT t I 

5. 	(a) zT cvf farq 	gcli 
14--1Fo R571 if-MR 3-1T*-F-0-U fW7 	f 	4)1 

3T-afq 2001 	2007 ciuf doh 	 t I 	 8+12 

N = 7, 1y = 532, 2,x = 0, 2:xy = 136 -2.TT 
/x2 =28 
3-W-1 : 

(i) R r f 	 2Tr 

(ii) qR1 2011 4 -sr-Ifff 
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(b) 	fc*--rg 	d 	chi 40% 

f fill 	ro0 	fq-NTV f T-ciqzft 

---4t-F4z1-1--d---TfTwri 48% t I 
-ciVNT (quarter) -4 (ri,111-71 80 31iitf 

	

ct; *tut wT 	-Ert *TNT t 

31-crT 	f7-zrft 

Z chr 	1.46=0.4279) 

6. 	(a) .. -a+1 4WIT (chi-square test) OFT 	10 

   t? 	 LA-ToT 

t'? 

(b) 	VP:ft a'r 	*1- 	-5f1 	di qiict 	10 
'ki

1000 34 	CiT 	 cb 

41q1I 56%3,{1 	31 	X 	44% -4 

Y ml 724fTrwm q11 	•TT a T ci-;) 

ra-) d454'wrtat cl-C1 f-*--Tft 1-ft -qt• 

fat-E{ 712TFT1WM 	 chi 

	

0.05 r11r‘311"1 5% -1T--6 	diFocht etc 
df =1 t 3.841) 

7. f9-Ws4 ram (-11 4-11-414) ,o1ti c4-qi dic44 t? 	 

1,;1 	x241 	.1;1 fqfqz4 	 ciRsq 	I 4+8+8 

8. F-P-irciFoci 14 	WT7-97 4R-171' 	-r--tR I 

(a) I ci-cb 	LI.0 	
5+5+5+5=20 

(b)  

(c) alt tke_R ogiackb -sr2413 	1-(1 	 41+i chi -F-4-71--T 

(d)  

(e) ZTTc1 qftzral 117-4 

(f)  
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